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ϕ̈
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456575 89:; <=< >? @AB@@C DEFE

T =
ϕ̇2

2
(7 tgϕ+ 9)

Q = 156 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <; < >HIHJ@C > EK E

T =
ϕ̇2

2
(10 cos2 ϕ+ 7)

Q = −132 G ϕ = π/4 G ϕ̇ = 6
.

456575 89:; <: < >L MIANC > EO E

T =
ϕ̇2

2
(14 cos2 ϕ+ 3)

Q = 22 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <P < Q IA? @H@C R E

T =
ϕ̇2

2
(14 sin2 ϕ+ 5)

Q = 124 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <S < Q N?TUHNCI V EFE

T =
ϕ̇2

2
(5 sin(2ϕ) + 10 sin2 ϕ+ 1)

Q = 367 G ϕ = π/4 G ϕ̇ = 6
.

456575 89:; <W < V IBX?J@CI > E > E

T =
ϕ̇2

2
(7 cos(2ϕ) + 3)

Q = −249 G ϕ = π/4 G ϕ̇ = 6
.

456575 89:; <Y< VXZ[AXH V E\E

T =
ϕ̇2

2
(4 sin2 ϕ+ 7)

Q = 116 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <] < V NL N^J@CI O E

T =
ϕ̇2

2
(10 cos2 ϕ+ 9)

Q = −55 G ϕ = π/4 G ϕ̇ = 5
.

456575 89:; <_ < \ILT K E> E

T =
ϕ̇2

2
(10 cos2 ϕ+ 7)

Q = 16 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <=` < \UL J@CI aEV E

T =
ϕ̇2

2
(8 cos2 ϕ+ 3)

Q = −147 G ϕ = π/4 G ϕ̇ = 7
.

456575 89:; <==< O L NHNC bE> E

T =
ϕ̇2

2
(2 sin(2ϕ) + 18 sin2 ϕ+ 1)

Q = 33 G ϕ = π/4 G ϕ̇ = 3
.

456575 89:; <=; < cdANC > E

T =
ϕ̇2

2
(6 cos2 ϕ + 11)

Q = 165 G ϕ = π/4 G ϕ̇ = 1
.

456575 89:; <=: < e IBXf NC O EDE

T =
ϕ̇2

2
(4 sin(2ϕ) + 14 cos2(3ϕ))

Q = 580 G ϕ = π/4 G ϕ̇ = 5
.

456575 89:; <=P < e NCI? JMUA V

T =
ϕ̇2

2
(14 sin2 ϕ+ 11)

Q = 166 G ϕ = π/4 G ϕ̇ = 4
.



456575 89:; <=S < e NB@HNA O E> E

T =
ϕ̇2

2
(5 sin(2ϕ) + 10 cos2(3ϕ))

Q = 115 G ϕ = π/4 G ϕ̇ = 1
.

456575 89:; <=W < gUAJ[HNC g Eh E

T =
ϕ̇2

2
(2 ctgϕ+ 3)

Q = −98 G ϕ = π/4 G ϕ̇ = 7
.

456575 89:; <=Y< h NL iUH K EV E

T =
ϕ̇2

2
(7 tg2 ϕ+ 7)

Q = 224 G ϕ = π/4 G ϕ̇ = 3
.

456575 89:; <=] < j IC? NCI K E> E

T =
ϕ̇2

2
(2 tg2 ϕ+ 11)

Q = 30 G ϕ = π/4 G ϕ̇ = 1
.

456575 89:; <=_ < j IHkX?NC e E

T =
ϕ̇2

2
(2 tgϕ+ 5)

Q = 135 G ϕ = π/4 G ϕ̇ = 6
.

456575 89:; <;` < j? @TH@CI K E > E

T =
ϕ̇2

2
(3 tgϕ + 11)

Q = 174 G ϕ = π/4 G ϕ̇ = 4
.

456575 89:; <;=< j NHNf IL @CI > E

T =
ϕ̇2

2
(10 cos2 ϕ+ 9)

Q = −62 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <;; < j UlXH h E FE

T =
ϕ̇2

2
(4 sin2(3ϕ) + 7)

Q = −114 G ϕ = π/4 G ϕ̇ = 5
.

456575 89:; <;: < DIBBN? NC > E

T =
ϕ̇2

2
(3 tg2 ϕ+ 11)

Q = 52 G ϕ = π/4 G ϕ̇ = 5
.

456575 89:; <;P < D[ ^NC h ER E

T =
ϕ̇2

2
(4 tg2 ϕ+ 3)

Q = 4 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <;S < bImAN j E > E

T =
ϕ̇2

2
(7 tgϕ+ 9)

Q = 223 G ϕ = π/4 G ϕ̇ = 5
.

456575 89:; <;W < bN?ZITAXH g En E

T =
ϕ̇2

2
(4 cos2 ϕ+ 7)

Q = 127 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <;Y< bNkL NHXoAXp > Ej E

T =
ϕ̇2

2
(4 tgϕ+ 9)

Q = 165 G ϕ = π/4 G ϕ̇ = 5
.

456575 89:; <;] < bNqXHI R E h E

T =
ϕ̇2

2
(7 ctgϕ+ 7)

Q = 98 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <;_ < a@L? @oAXp > EbE

T =
ϕ̇2

2
(4 sin(2ϕ) + 14 cos2(3ϕ))

Q = 580 G ϕ = π/4 G ϕ̇ = 5
.

456575 89:; <:` < rfL XqXH > Es

T =
ϕ̇2

2
(7 cos(2ϕ) + 9)

Q = −28 G ϕ = π/4 G ϕ̇ = 2
.



456575 89:; <:=< tX?XmmNC > EbE

T =
ϕ̇2

2
(7 tg2 ϕ+ 9)

Q = 158 G ϕ = π/4 G ϕ̇ = 3
.

456575 89:; <:; < tXHNi@HNCI K Eh E

T =
ϕ̇2

2
(3 ctgϕ+ 7)

Q = 18 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <:: < tN? Nf AXH h E> E

T =
ϕ̇2

2
(4 sin2(3ϕ) + 9)

Q = −79 G ϕ = π/4 G ϕ̇ = 2
.

456575 89:; <:P < udf ^I?vA > E

T =
ϕ̇2

2
(6 cos2 ϕ+ 5)

Q = −32 G ϕ = π/4 G ϕ̇ = 4
.

456575 89:; <:S < wUf IM@HAN R E O E

T =
ϕ̇2

2
(7 sin(2ϕ) + 10 cos2(3ϕ))

Q = 732 G ϕ = π/4 G ϕ̇ = 6
.

456575 89:; <:W < x ITI?NC > E V E

T =
ϕ̇2

2
(7 sin(2ϕ) + 22 sin2 ϕ+ 1)

Q = 180 G ϕ = π/4 G ϕ̇ = 5
.

456575 89:; <:Y< x CdZANC O E h E

T =
ϕ̇2

2
(14 cos2 ϕ+ 9)

Q = −375 G ϕ = π/4 G ϕ̇ = 7
.

456575 89:; <:] < xf @? @C O EFE

T =
ϕ̇2

2
(3 ctgϕ+ 3)

Q = −42 G ϕ = π/4 G ϕ̇ = 4
.

456575 89:; <:_ < y @L ^XHXHI > Ee E

T =
ϕ̇2

2
(5 tg2 ϕ+ 3)

Q = 154 G ϕ = π/4 G ϕ̇ = 3
.

456575 89:; <P` < y UL V EbE

T =
ϕ̇2

2
(3 tgϕ+ 5)

Q = 19 G ϕ = π/4 G ϕ̇ = 1
.
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�
ϕ̈ ���� ¡ ¢¡ £ �¤�� ¥�¦ §

16ϕ̈+ 7ϕ̇2 = Q ¨©ª«¬ªª­ ®¯° ¯± ²
12ϕ̈− 5ϕ̇2 = Q ¨³´³µª­ ¨ ¯¶ ¯· ¸
10ϕ̈− 7ϕ̇2 = Q ¨¹º´«»­ ¨ ¯¼ ¯² §
12ϕ̈+ 7ϕ̇2 = Q ½´«©ª³ª­ ¾ ¯¸ ¦¿
11ϕ̈+ 5ϕ̇2 = Q ½»©ÀÁ³»­´ Â ¯° ¯Ã ¦
3ϕ̈− 7ϕ̇2 = Q Â´¬Ä©µª­´ ¨ ¯ ¨ ¯¿ ¦±
9ϕ̈+ 2ϕ̇2 = Q ÂÄÅÆ«Ä³ Â ¯Ç¯§ ¸
14ϕ̈− 5ϕ̇2 = Q Â»¹»Èµª­´ ¼ ¯É ·
12ϕ̈− 5ϕ̇2 = Q

Ç´¹À ¶ ¯¨ ¯¦Ê ¿
7ϕ̈− 4ϕ̇2 = Q

ÇÁ¹µª­´ Ë¯Â ¯¦¦ Ì²
12ϕ̈+ 9ϕ̇2 = Q

¼¹»³»­ Í ¯¨ ¯¦± ¦±
14ϕ̈− 3ϕ̇2 = Q ÎÏ«»­ ¨ ¯¦· ¸
11ϕ̈+ 21ϕ̇2 = Q Ð´¬ÄÑ»­ ¼ ¯®¯¦² ·
18ϕ̈+ 7ϕ̇2 = Q Ð»­´©µºÁ« Â¦¸ ¦Ê
10ϕ̈+ 15ϕ̇2 = Q Ð»¬ª³»« ¼ ¯¨ ¯¦Ã Ê
5ϕ̈− 2ϕ̇2 = Q ÒÁ«µÆ³»­ Ò ¯Ó ¯¦¿ ¿
14ϕ̈+ 14ϕ̇2 = Q

Ó»¹ÔÁ³ ¶ ¯Â ¯¦§ ±
13ϕ̈+ 4ϕ̇2 = Q Õ´­©»­´ ¶ ¯¨ ¯¦É É
7ϕ̈+ 2ϕ̇2 = Q Õ´³ÖÄ©»­ Ð ¯±Ê É
14ϕ̈+ 3ϕ̇2 = Q Õ©ªÀ³ª­´ ¶ ¯ ¨ ¯±¦ Ì·
14ϕ̈− 5ϕ̇2 = Q Õ»³»Ñ´¹ª­´ ¨ ¯±± ²
9ϕ̈− 6ϕ̇2 = Q ÕÁ×Ä³ Ó ¯ ° ¯±· Ì¿
14ϕ̈+ 6ϕ̇2 = Q ®´¬¬»©»­ ¨ ¯±² Ì²
7ϕ̈+ 8ϕ̇2 = Q ®ÆÈ»­ Ó ¯¾ ¯±¸ ·
16ϕ̈+ 7ϕ̇2 = Q Í´Ø«» Õ ¯ ¨ ¯±Ã ¦¸
9ϕ̈− 2ϕ̇2 = Q Í»©Å´À«Ä³ Ò ¯Ù ¯±¿ ¸
13ϕ̈+ 4ϕ̇2 = Q Í»Ö¹»³ÄÚ«ÄÛ ¨ ¯Õ ¯±§ É
14ϕ̈− 7ϕ̇2 = Q Í»ÜÄ³´ ¾ ¯ Ó ¯±É ¸
11ϕ̈+ 21ϕ̇2 = Q Ëª¹©ªÚ«ÄÛ ¨ ¯Í ¯·Ê Ê
9ϕ̈− 7ϕ̇2 = Q ÝÑ¹ÄÜÄ³ ¨ ¯Þ·¦ ±
16ϕ̈+ 14ϕ̇2 = Q ßÄ©ÄØØ»­ ¨ ¯Í ¯·± ·
10ϕ̈− 3ϕ̇2 = Q ßÄ³»Ôª³»­´ ¶ ¯Ó ¯·· Ì¸
11ϕ̈− 6ϕ̇2 = Q ß»©»Ñ«Ä³ Ó ¯¨ ¯·² ±
8ϕ̈− 3ϕ̇2 = Q àÏÑÈ´©á« ¨ ¯·¸ ¦Ã
12ϕ̈+ 15ϕ̇2 = Q âÁÑ´ºª³«» ¾ ¯ ¼ ¯·Ã Ì¸
19ϕ̈+ 11ϕ̇2 = Q ã´À´©»­ ¨ ¯ Â ¯·¿ Ì±
16ϕ̈− 7ϕ̇2 = Q ã­ÏÅ«»­ ¼ ¯ Ó ¯·§ ¦
6ϕ̈− 3ϕ̇2 = Q ãÑª©ª­ ¼ ¯° ¯·É §
8ϕ̈+ 10ϕ̇2 = Q äª¹ÈÄ³Ä³´ ¨ ¯Ð ¯²Ê ±
8ϕ̈+ 3ϕ̇2 = Q äÁ¹ Â ¯Í ¯å æçè é�êë ·±ìì ¦Ìíîïí


